iz}

2R 2 =9 ot

5kl (7181)

A AJZR2 5A] 22+ 102Ut

5A 224 10x

. IEEEEEES s o i
bs RSl SE A iz |oleh ||z 21| e
U] Lemuth e wg |52 EEIH O e estlo 88~89%
2 1 cm®E o} 2He G060 O 88~89%:
3 1 mEth & 99 7, 500, 7500 O 90~91%
4 1 math & &9 (1) 8000 (2) 2, 900 i 25 ale 90~91%
5 1 myrch & w9 © O 90~91%
6 dolst 7e)E oHs}7] mmell O% O 92~95%
7| Aels Agg Y (1) km (2) m e 252‘5 e 92~05%
8 dolet 7E] & ods}7] A5 O 92~95%
9 w2 w9 ol Hx O 96~97%
10 HT} 22 e O ) ) O 96~97%
11 Hup AL e 18 24%, 126% O 96~97%
12 1EE 22 T opef = %{33‘;@‘ O 96~97%
13 SIA 3L A1) 7, 50, 33 O = | 98~99%
14 Sl WAl (1) ol = O % | 98~99%
15 SlA 3L A1) TE 6% O = | 98~99%
16 SIA I W AL(1) ® O = | 98~99%
17 Sl MAN2) | ()6, 17 (2) 1, 55 17”%;’&“3 e % | 100~101%
18 SiA s} A (2) Sk e O 100~101%
19 SUa W AL(2) ol #z %13;733% O 100~1012
20 SIAL L W A(2) @ O 100~101%
9 24 29%
+ 7H 15%
27 36%  15%
12. B 20022 2 B 9 z2 Jehjw 35 20294th 19. () 3A] 18 20Z&el 2~1%F 203 5025 tgTh
o7 gl Al mZ=eUth 202+ 502=70%0]n%2 ¢ Foate] APlehd




3-1 5.
2. 2% mm% AW @ 5 cm 2 mm=52 mmo|i © 6 ¢
4 mm=64 mm$JUt}. webA] dolg nluste] 71 71 AFH
A= e ©, O, @, OYuyth

dolet Az (7]1=1)

=

5. 947 Zol= ¢F 15 cm, 8 ¢] Aol oF 25 cm, T
el dol= oF 18 emYyth

16. 144] 50%lA 144 2635 wid 243to] FHE AT =
71232 ] el 2488 7|tk ok gt

18. 24 94 50%el LIS W =&sh= AkS 47 4l
HH
QBT 114] 5E. FEFE 114] 205, o] EAke 114

3580 =2e HEE oA 114 108704 =2ket = gle

20, AF2 AR AIZHE 2] 38 500l AFE B
A2 2] 15% d5Zolmi MALS: o] 8aje] Aiken

g
fol7h FE F A 113 5527} HUT,




